Tt REREIW AR RBRE [V a] P 15@4}37‘??Wib=ﬁ‘f%fbp,\li]

- (PR 1742 A)

N=T AT = iE
[kt )U—)S’LU:JH (Dﬂmh', o
p.97 Ce 12 SRR R A HREE L LTV A I EAS, e ey RICE I~ EOREBKKE R RENRTR L LTWE I LPE 0,
18497H
[3im4R] £-7.2.1-2 ¥r¥ 4T
1-337 WrhZEfsa vz — 5 A @ HEENRI Y2 =54

(NEEFT A (Ij))j_Ji.ﬁrl &) — b L3R (NEET A (Ej:litﬂ ¥y — b ¥—a

BVEAETA @hRNarry—rey—rR) @BEE&FL (FEhRXorry—treV—rM)
S ERZES 1
I -62 4 .
397H o M a<30” oFwERiciE, - - - a B a=30" DBWERITH,
I-62 7 ] By 3

L. _d 20 N O - 0 RSO PR - c__d T N B - A RSNSOIt -
647H &= Cosa \/( cosa) (sina> (0.1.5-14) | a= cosa \/( cosa) (sina ) (9.1.5-14)
H:_GB ¢_>.y0)lf:=§‘:k=ks} .................................................................. (9.1.5-19) ¢gyo)u#k=k,} .................................................................. (9.1.5—19)
647H p<y DKE=0 ¢<y OBER=0
II-65 . .
447H DEFAM L A<y (B4 DEFATH L é=y (B4t




1 I-72
51TH

I-72
947H
II-78
31TH
Ir-162
21TH

Ir-321
2~447H

. Bising:

cos(8:—6) =19.01m

b= r-2sin"! (—1—) =7.80m
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= cos (G2 — 1) = 19.01m

b = r-2sin-! (i) =7.80m
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